


LRT




-1
1
16 12 22
2
17 2 14
3
17 3 22

16




318,571 10 323,405
15 322,251 0.4
100,669 15 120,443
19.6 1.2
3.16 / 15  2.68 /
125,000 324,000
120,000 | —1 323,000
115.000 | *1 322,000
110,000 | | 321,000
1{ 320,000
105,000 | | 219,000
100,000 | 1 318,000
95,000 1 317,000
90,000 316,000
H H2 H3 H4 H5 H6 H7 H8 HO H10H11H12 H13H14H15
—/ ——
1-1
2
1 3 8 (
)
15 ( )
81,661 25.5
67,139 (20.8 ) 52,524 (16.3 )
42,614 (13.2 )
3,810.4 /km? 1,540.5
/km? 2 2,039.0 /km?
2,000.0  /km? 1,674.4  /km?



—/1 =1, 1L,

[ o 3, 86
I 0, (e~ 544,
[ RO R
— LY
1-2 ( 15 )
11 15 5 0.2 4.1
7,634 (10.2 ) 1,752 (5.9 )
6,809 (15.1 )
3593  (23.1 )
657 0.8 ) 94 22 )
1 (63 08 )

116%

112%

108%

104%

100%

96%

92%

88%
H11 H12 H13 H14 H15

14

1-3 (11 100 )



125%

120%

115%

110%

105%

100%

95%

90%

H11 H12 H13 H14 H15

14

15
25.3

15.3

1-4

20.3
23.2 21.9

14.6 14.3

100%
90%
80%
70%
60%
50%
40%
30%
20%
10%

0%

1-5

065
m15 64
oo 14




12 170,082 4,031
51,976 (30.6 ) 113,049 (66.5 )
47,675 (28.0 ) 43,037
33,000 (19.4 )
3%
28%
19%
1%
1%
3%
5%
25%
[ |
[ ]
=
O m
O
= O
O
1-6
2
14
692 25,237 657,420
174 (20.1 ) 3,513 (12.2 )
(9.3 )
15.0 14.2
24.6 4 1
10.5

2.4 )

(25.3 )

10
67,295

12.1

19.7



14

BEMRITEI4E]

179,545

43274 (342 )

29.5

1-7

ExEH (TR

1,189

(27,998 )

6,049
(16.4

HenliEEE (T LE)

41,196
) 2,508

(24,901
12,845

G.7 )

7.2 )



1-9

11




10 323,405 15 322,251

100,669 15 120,443
19.6
81,661 25.5
67,139 (20.8 ) 52,524 (16.3 )
11 15 5 7,634
(10.2 ) 1,752 (5.9 )
6,899 (15.1 ) 3,593  (23.1 )
15 20.3 25.3
23.2 21.9
170,082 4,031 (2.4 ) 51,976 (30.6 )
113,049 (66.5 )
14 692 25,237
657,420 10 174 (20.1 )
3,513 (12.2 ) 67,295 9.3 )
14 6,049 41,196
179,545







2-1

11

41



11

1
) 11
03 (6.5 )
(11.2 ) 18
09 10
11
2-2

24.5
08 9.8
(11.0
58 41.8

58

12

( 2-2

18
13.7

37.5

02
09 10



11

09 10

11
08
30,000

09 10

2-3

02 03

13

18

09 10

08

08

18



08

02

=11
06

09
07

=11

2-4

11

14

11

=18

2,000



09 10
11

<18

11

2-5

=18

500

15

08



08

=11

09 10

2-6

=11

16

11

=18

11(

6,000



08 =11 08 =11 09 10 =11
20,000

2-7 ( )

17



11 =18 06 =11 09 10 =11

02 03 =11 08 =11 1,000 2,000

18



11

09 10

2-9

17 18

19

06



243,549 2
10 17
300,000 140.0%
250,000 | e e e 7 1200%
——— ]
T | ] 0
200,000 100.0%
1 80.0%
150,000

| 60.0%

100,000 1 40,08
50,000 1 20.0%

0

® Rs [ W6 | A7 | H8 | W9 | W10 | W11 | A1z | W13 | Hia | O%F

208,404/215,858222,702|228,278|231,369234,664236,641|239,476|241,921/243 549
100.0% | 103.6% | 106.9% | 109.5% | 111.0% | 112.6% | 113.5% | 114.9% | 116.1% | 116.9%
2-10
60 70
( 8 ) 70
20
2-11 ( ) 2-12 ( )

20



41

5 100
2-13
5 46,123 / 15
19,866 /
50,000
40000 [Tl — 1
o~
o [ J
30000 | A
20000 |
10000 | 1
0
H5 | H6 | H7 | H8 | HO | H10 | M1l | H12 | H13 | H14 | H15
— 46,123 43,568 40,146 (37,286 (34,028 (30,199 27,243 24,892 22,220 (20,656 |19,866
—— 100.0%| 94.5% | 87.0% | 80.8% | 73.8% | 65.5% | 59.1% | 54.0% | 48.2% | 44.8% | 43.1%
2-14

21

56.9

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%

0.0%



8 41
11 02 03
08 09 10 18
09 10 ( ) 18 ( )
11 )
11
11 ( )
18 ( ) 08 (
11
09 10 ( ) 17 18 ( ) 06
)
2
80
41
10 55

22




(ITS)

23



24




LRT

(IC

3-1

25




26




3-2

27



LRT

LRT
LRT 18 4
30 60
13
16 10 1 2
10 7/ 100
16 3 25
15 20

28

15

LRT

11

29
10 20

11



29







3
4-1
5
/ /
60km/
1 22,136 17,592
(
2 5,965
30,000 —
25,000 . ° . \_ ] — _ |
™ D S Y ] — _
I e
20,000 T |
15,000 b
10,000 b
5,000 b
0

H5 H6 H7 H8 H9 H11 H13 H15

28,101 27,927 |27,186 27,424 126,218 25,229 23,679 22,136

100.0%| 99.4% | 96.7% | 97.6% | 93.3% 89.8% 84.3% 78.8%

4-2

31

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%

0.0%



40km/

14

12

250

12

15

4-3

350
300
250
200
150
100

H5

H6

H7

H8

H9

H10

H11

H12

H13

H14

H15

261

288

297

259

262

264

279

296

280

261

250

tH

100.0%

110.3%

113.8%

99.2%

100.4%

101.1%

106.9%

113.4%

107.3%

100.0%

95.8%

4-4

32

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%
0.0%



8km
( 7
4-5
LRT
3
18 4 LRT
30 60 15 21 23
14 1 1,702
5 5 7 3,160 3,180
8 14 10
57.2
3,500
3000 | [o OV Y oy |
—«\* -
2500 | —~— = |
*\*
2000
1500 |
1,000 |
500 | ]
H5 | H6 | H7 | H8 | H9 | H10 | H11 | H12 | H13 | H14 | H15
=] 3,167 |3,160 |3,182 3,098 |2,854 |2,626 |2,462 |2,335 |1,995 |1,812 |1,702
—— 100.0% | 99.8% |100.5% | 97.8% | 90.1% | 82.9% | 77.7% | 73.7% | 63.0% | 57.2% | 53.7%
4-6

33

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%

0.0%



4
4-7
8
16 3
3 / 2 /
14 1 5,361 75
3,518 / 6
) 1,013 7/
5 15 38.3
13
10,000 120.0%
8000 |*T—F1_ — 4 100.0%
e
~ 4 80.0%
6,000 [ -
) 1 60.0%
4,000
4 40.0%
2,000 4 20.0%
0 0.0%
H5 | H6 | H7 | H8 | H9 | H10 | H11 | H12 | H13 | H14 | H15
8,687 |8,134 |7,789 | 7,647 |7,120 | 6,689 |6,279 |5969 |5682 |5761 |5361
100.0%| 93.6% | 89.7% | 88.0% | 82.0% | 77.0% | 72.3% | 68.7% | 65.4% | 66.3% | 61.7%
4-8

34



10
15 3 4-9
8 2
1
14 1 1,508
565 / ( 35 )
5 10 4 12 100
/ 13 14
3,000
L e n
2,500 S -
2,000 | s = 8
1,500 s 8
1,000 .
500 1
H5 | H6 | H7 | H8 | H9 | H10 | H11 | H12 | H13 | H14 | H15
— 2594 | 2414 2367 |2,236 | 2,022 | 1,844 |1,721 |1,621 |1567 |1,592 |1,508
—.— 100.0%| 93.1% | 91.2% | 86.2% | 77.9% | 71.1% | 66.3% | 62.5% | 60.4% | 61.4% | 58.1%

4-10

35

200

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%

0.0%



6.4km
40
47 59
20 200 1 4-11
2
5 5
10
14 1 10,369
10 5 4
13 14
18000
16,000 [ ‘_\_ ] _ |
14,000 T Tl
\ N
12,000 [ *\*\: i
10000 | |
8,000 [
6,000 [ b
4000 | |
2,000 [
H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15
— 16,970 16,261 {16,007 15,314 {13,994 |13,006 |12,215|11,661 {10,912 10,597 10,369
—— 100.0%| 95.8% | 94.3% | 90.2% | 825% | 76.6% | 72.0% | 68.7% | 64.3% | 62.4% | 61.1%

4-12

36

120.0%
100.0%
80.0%
60.0%
40.0%
20.0%
0.0%



28

4-1

20

48

4-1

37




4-2

656.6

128.3

67.2

58.2

48.2

9.5

18.5

8.3

20.9

6.0

8.0

8.8

10.1

1.7

3.4

1.4

18.8

17.7

37.0

8.3

7.7

4.1

2.0

5.1

10.4

6.0

2.1

15

25

14

39



4-3

41




10

13

42







.

g
Yaansmmanan

esREEEEEEEEsEEEsEEEEEEEEE,
. .

RULCELTTIEETT
o

.
. .
N .
LETTTL

5-2

44



LRT

(

TOD)

TOD

45




P&R

(

TOD)

L

TOD

5-3

47




